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97. Choose the correct “passive voice” for the following “active voice”. [Ans : a]
“I see her every summer”,
(a) She 1s seen by me every summer (b) She sees me every summer
(c) Every summer she sees me (d) None of them

98. Select the complex sentence from the following sentences. [Ans : d]
(a) I called him without getting his answer  (b) I called him but he did not answer
(c) He did not answer to my call (d) Though I called him, he did not answer

99. Choose phrase that best completes the sentence. [Ans : d]

, he would have been able to pass the admission test. '

(a) If he studied more (b) If he were studying to a greater degree
(c) Studying more (d) Had he studied more

100. The word “defying” is closet in meaning to : [Ans : c]
(a) Altering (b) Defecting (c) Disregarding (d) Defending

0l. @<fo BF 60m THOE G IO = ToF 2te 40 m/sec QT S 5x 0° T (ST =H, FOqT
a3 I Gt e = nf 31

AT ST &0, h—lgt

\]7 ||2><6 sec =3.5 sec ¥R x=ut =(40x3.5 m =140m (S=)

0 — _
02. o A=|%Y SN0 o (and) a2 L[ V3 . @ @7 T et <o
smO cosH AR
s A — Ap —|C0S0 —sin®] [cos® —sin0] [cos’@—sin’® —2sincosO
| sin@  cos@] [sin® cosB| |2cosBsin®  cos’O-—sin’O
L E |
H_E, A = 2 2 v
Vil
2 2
] s T

;. c0s°0—sin’ B = 5 ql, cos20 =cos60° —casg a1, 20 =2mri-§ c 0= n:rrirg (Ans.)

03. fEa AT @ (I 9fS T AT %77 0T Ao S F26 Jera T fefar v ¢
8x* —2x° —27x> +6x+9=0 |
1

2
Sol”: ¢, TG =T a,—o, B 8 y. O, [1—{1+B+7=§=% , B+ :E
-6 3 3 l 3 . 2
WREA, —a’pf - uy+[1]3y afy=— T, —a’PB+y)=—= M a’x—== - o’=3
g 4 4 4
9 9 3 | 3
AR —a’By== 9, =3PBy== 9, By=—= ORI, B+y=—; =—=
o Py=2 PY =2 Pr=—2 Pry=75 By g

Jiow SEEREERE




SR-NE

amwmw.

KUET, CUET, RUET 2§ 8 JS14Td

x> —(B+7)x+By=0 =, xl—%x-—gzﬂ a, 8x* —2x-3=0

A, 8x* —6x+4x—3=0 1, 2x(4x —3)+1(4x—3) =0 =, (4x—-3) 2x+1)=0

x=> -1 (Ans.)
4’2

04.* fiesre «rifba o7 smiba 77 ffr w93 1.2.4.5+2.3.5.6 +3.4.6.7 +......... . +n *W %4 |
TG u, =n(n+1) (n+3)(n+4) |
ST AM, n=9 AW =9x10x12x13 =14040 (Ans.)

05. (a) I y=sin2tan” [l_x]rww(ﬁnd) Yoo
1+x dx

A4 479, X =cosO

. y=sing2 t::m“‘\/I—mse > =sin {Ztan" tan—g-} =sin[2><-§}=sin8 =sin(cos "' X)

1+cc;59#
=.._]‘/l__2=‘/1_v2‘_.dy=d\/1_73=1x—23{ o
SInsin X X i dx( X ] \/__( )
(b) x @7 AMCATE (\/;)‘E 9T TETS 7o el =11
ldy 1 1nJ§
e y=(Vx)* =1 =vx In/x :.
y=(Vx) ny=+vxlnvx Y Y =
1 dy 1
= ——Z =+/x. + ln\/—( J
y dx Jx' 2J_ b 2/x
.-.%:(ﬁ)ﬁxzj; {1+ In(vx) } =E(-\E)‘E"{l+;—lnx} (Ans.)
dx
06. (a) iftrs v fefr s | ;
acosx—bsinx .
. 1}{
dx sec” —dx
Wm:jacnsx—bsinx =.[ ( ?x =-[ 2 X
a 2 |_h 2
2 X » X
1+ tan” — 1 + tan
\ 2 ) 2
Let, tang—-z = sec’ de 2dz _.[ 2;:12 :_II Zdbz
. a(l—z )—2bZ d ZE+2_Z_1
a
=—1J' 2dz =-—f 2dz =~lf 2dz

2 . 2 2
a (Z_I_E) _”_;_1 ( b] __[bz-zazj a [Z_I_ )_ \/H + b2
a/ a’ a a a a
e T—




EETETR O | G ]

b +a’+b?
_1 2 lnz . . lnaz+b+v’a +b|
a Jal +b? b aZ+b? JaZ+b® |az+b—+al+b?
2 X Z+—+
a a a
| atan—+b++a2 + b’
=————=In - +C
Va’ +b’ ﬂtﬂl‘l§+b—‘\/ﬂl+bl
w2 cosx dx
(b) carfers == fefr ms | _ :
, (I+smnx) (2+sinx)
TR J-/g cosx dx
(1+sinx)(2+sinXx)
qfg, 1+sinx =z 90, cosxdx =dz
2 2dz 2 dz
=£§Eﬁ,2=2; x=0%F, z=1 _[ 0z =| =—] —— H[ln‘z‘ ln|z+1‘]
2 Lz(z+1) “t z 1 z+1
I I 2 2% 2
| 2| =mZ-mi=mZ+h2=Hh =In ¢Ans)
z+1| | 3 2 3 3 |

07. (a)93 TENT Tgred FREraE FefRs THead 9[- &I I W | PR 99 I 7w a9
TR0 ¢ sin@+2cosO =1

FagE: —1<sin0<1; —1<cos0<1, When sinO=1 then cos6=0, 9=—T2£

again, when sin® =0 then cos® =1 but in equation 2cos0=1,..0 = g

. . T
and another magnitude of acute angle 1s re

(b) IM o 8 [} «YF 8 THEIT W YR cos2aL = 33C“52B;B1 T, 9 (e (¥, tan o = /2 tan
—COoS
e (:052&:30052[3_1 :>1 —cos2a. _ 4(1—-cos2p) 25111;1 _. szﬁ
3—cos2P 1+cos2a  2(1+cos2p) 2cos” a cos” 3

= tan’ ou =2tan’ B .'.tanu=x/5tan[3 (Ans.)
08. 4y-—3x=3 a3z 3y—4x =5, [ {bd TEYE FACPICI FAQLSed Taeael 7 o9 |
— 3x—4y+3 4:{ 3y+5

qRY, a,a, +bb, >0

V32442 37447
= (+) W, x+y+2=0 9= ©iZ, X +y+2=0 TR AGISS |
(-) =@, 7x—-7y+8=0

" DO Acccomemeon




CETE T} & 0

09.

10.

O1.

02.

x* +2ax +y? =0 IFHR Tom =i =pifeget iy 39, @RI =pfemz x -Srs $oF a9 |
sareE: X +2ax +y° =0......... (i)

dy

= 2X+2a+2y—=0 [x 97 ACATT I35 {]

dy _—(x+a)
dx y

-y =0 ' 0

X WG THE F9 90, d—x——{} Cy=

dy  (x+a)
(i)-a y=0 3Fmm, x°*+2ax=0 ..x=0,-2a
». R (0, 0), (—2a, 0)  (Ans.)
6 kg/m SEa 936 (TMces O3 A® 7 kg SR mﬂﬂfﬁ?ww—ﬁ@@mﬂ— 3m @ a3t e

SN 2F | (Ensiod gy A1z 39 |
AN 49, e Ay 2x m e EH = (6x2x) =12x

Zx
oz, foa W, 12x(x—~3)=3x7 41, 12x* —36x =21 ~ e
A, 4x —12x—7=0 9, 4x%> —14x+2x-7=0 X
qa, 2x(2x-7)+1(2x-7)=0 |
a, 2x=7)2x+1)=0 12x 7

22x=7 [2x=-1] .. wEa o 7m (Ans.)

| mm* erzron [fER g3t T=ites O i 5% e Fa0e T© I T FACS A7 (MSAN WITE, TS
& Y =2x10" Nm™ |

11 -6
s F=ad o 2x10 xIx107 x50 0 10N (Ans.) | £=5% of L =L

L Lx100 100

T RgFeE AR 26 &9 Fata 10 17 o4 o =17 2mifda @i @ 20 rad /sec = | @i gadt o7
FE: O0=2mn =2nx10=20n . w=20rad/s
R @, o° —o,° =200 o, =0 ;

2 2
azw —mﬂ I'1=]0?ﬂ7f

20

2 1 ;
_ (20" -0 =—Drad!'s‘ (Ans.) - C.0=nx2nt=20m rad

2x20m T

03.* @3 S I 90a & “Afqee a2 Gio1 HRr g, @ TN o= sifaee semmr 20°C | FeRET ST oF

MR BeR e 35°C a1 10 &6 st b & «ifamet «ife f[fSamma sy s «@9 e 97 347
qqr T, Forema @39 5.7x107° Wm’K ™ . siwem wiesifrs fAfead wwet 0.9 9w aesha =86 e[
cFaF 1.5 m”.

sagE: E = Aeo (Tf' —T:f)t
=1.5%0.9x5.7x10™* (308" —293*)x10x 60
=75.216x10° J (Ans.)

T =(35+273)K =308K
1, =(20+273) K =293K

ECIR | ¢



TR ) & {

04. & o1 o T O 10 m, &% 6 m @R FOTS! 10 m | 80% FEwwer AR @3l A= 30 REG
A AT 77 FA0S A | Ar=ifod wyFTe! Fefa <9 |

T FAE weT = (10x 6x10) = 600 m’ ; 93 Rz Swer 2@ =%m=5m

-, ofiff@ 7 = (600x1000)kg = 6x10° kg

-, oIS Srore waer pr - Meh _ 6x10°x9.8x5 | 13333 wart
t 30x 60 |

S PO HAS] p = 163338‘33 watt = 20416.667 watt

_ 20416.667

746

05. 9 B e sife 7™y @3 F9@ s y =10sin (ot + ), FdE 30sec 932 W 7@ 0.05 m T,
107 (F) @ifds 0% () wifa ey oty w9 -

TG: (F) @ = Z—T“ — i—g ~0.20944rad/s (Ans.)

SPFTS]

h.p.=27.368 h.p. (Ans.)

(A t=0 ¢ y=0.05
.10 sin (@.0+8) =0.05 = sind=0.005
5=0.287 deg =5x10" rad (Ans.)

06. fea form 7Q @ty @ T © 2806 A *ifE 7 73?
50

Wiivhy
60 302
230V
= 310Q
40 70

ANLE: 67 (@14 = 50

I=%=46 Amp

230V

oa zre, 1, =-}}%x46=23Amp

et

ax, I, =%>{23=11.5 Amp ..7(2-4 current=11.5 Amp

~P=LRt=(11.5°x7x30x24x107 =666.54 TG

07. 9 4req s 1000;1 oo vy [(IfE wferaeqr af svfew e @ 3taaay [ =0 ©f 95 Fare 3@
1.2 V 3% faog gaamst F9re 210 | wreifee afm (F) 799941 (V) *fe @3 4197 Ares IR fadw o9 |

B
SFGA(F) =< = —~=3x10" Hz
A 1000x10°

(%) E=hf =6.626x107* x3x10"° =1.987x107"*]
(s, E=@+K,, =¢+eV,

a, 1.987x10" =+ (1.6x10"° x1.2) ..@=1.795x10""J (Ans.)

sgm SRR eememeseen.

ﬂr—
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08.

09.

10.

O1.

| &

?

KUET, CUET, RUET &4 3 A4

15cm FIER vared @it 6 @3 F 30 cm (FIFFT AP G0 G (T A=A I T | 9ol
T (IR Iy 92 ) (1910 (I &Fhod @R 97 Ho] T A2

AT ©G FTOR e, p, =

—1

SRS (IR WIS, P, =

——=+6.66d
0.15

-3.33d

B FWel =p, +p, = (+6.66 —3.33)d =+3.33d

;. O (WP g, :ﬁ

TG T @32 +3.33d (Ans.)

=0.30m=30cm

RICCE W4y 3.8 e | Tofa w1 3o werm 1/10 1 5132 2r<ea?

sgE: N=N_e™

:>-:u=1n(ﬁJ
N

-1, [ N
t=—1In —
A (N ]

10

- xln[i) =12.626 day

G 3T [NTo7 eeetara Taw we ¢

RELALE P
38 Y

(F) ©fYR I SA0T 4I7 T Tomai = e faeftas sawst A i e

AAGI: 1T

(V) [Aads 915 Tea @71 1 & w@ee @@

Y ©@eT T

(°T) ST T4 90° @ T (FICA IS (AT NS AT FA ©IF BT @ (I A?

TagE: C, >C =3

(9) IWT 8 SRR e Wewy ey 67
FAIYF: IR T 71 T 8 27 1 A7 € w3we Rves it oitae =T G I A
(8) TS C= =1 el = faeasa wr 7y
AT : TS ©IF 8 T SOz f[Isar <41 I |

FgE- E = —; nRT

=(§xixs.314x298 ]
2" 44

=337.85J] (Ans.)

4
n = —mol

T=298K

{ 319 |

R (Written)

25°C or@® 4.0gm CO, St SPTRs sifexife fefa ==

R =8.314 J/K.mole

o



B/ B AT

I S P E—

CH;
NOE NO;_r C’|‘l
sgr: (i) TNT : (ii) PVC: (-CH,- C H-), (iii)farﬁm@(iv)
. N
NO,

COOH
QITI'%W \fre: @ qfre: O O
coop ) T e 0=

03. 5.17 mg 93 t&a e wed st 10.32 mg CO, @R 4.23 mg H,O #IeTm I | @iod eies o7

88 z3ra, @it wifaw e iy <9 |
2 4723
— X

oe: % C = 12 x 1022 L 100 = 54.44 % H = «100=9.09
44 5.17 18 5.17
44 0
. %0=100—(54.44+9.09)=36.47 S C= 51—4 =454; H= 9——9- =9.09;
0=3%%7 598 . c=43 5. g=20 4.0-228_, - cC:H:0=2:4:1
16 2.28 2.28 2.28
A ALEs = C,H,0 wnrife® Jwse =(C,H,0),
S (2x12+4x1+16)xn =88
n=2
. uefFs sigee = C,H,0,
04.* fRT6a ANTTIGTANS SFH 9 4
(1) Pb(NO,),(aq.) + H,S(g) — srg: 2HNO, + Pbs
(i) Cr,0,(s) +K,CO,(s) + 0,(g)—— s K,CrO, + CO,
anh Al,Cl, -
(1) C.H, + <@Cl ydmf 273 5 sy C Hi —© + HCI
(iv) CH,CONH, +Br, + KOH sym: CH,NH, + KBr+H,0+K,CO,
57
(v) CH,=CH, +0, — - S YT TNH sz: »2H — CHO + ZnO
0—0

05.* *[1eT SR, @vEse =it ¢ ffitare 0 vz s ane |
STIG: AT SR ¢ M Frermmmet 20—30% SR AN oF (@ A s feers 0

G TP |
RIBFRE ARG ¢ 95.6% T @ 4.4% 1@ Frgow Feeies e @RbwERe i |
RRTETET FIRT ¢ G AAIFS SIETERAR AT S FF & O Y 5—-10% e, fHffes

8 3% (@& Q@ T4l T | OTF I e =0 |

T Misw SRS

; el i KUET, CUET, RUET &£ 3 NI4T |
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06. ﬂﬁiﬁa‘rﬁ?nwmmdﬁmﬁﬁmmﬁﬂ'ﬂWWUGGmpfgm "TT\'S‘*?:TﬁWﬂWWW CEEE]
(SEiETeE W9 20 comp/ gm | BT Ferelfty I3 Fe? (m%ﬂmw (C-14) 97 wdfiga= 5600

=)
6 :
g k = L 93=M=1.2375x10'.4 year™
t,/, 5600
| a
S, t=—1In a=20
d —X
1 2
X In 20 =4127.883 year a—x=12

T1.2375x10¢ 12
07. 50°C sr@® 200 cc NaCl 53t 5.85gm GTfEAN @RIET FAS WNE | GG (IER I79@l I 237

A 1000x W IOOUxS 85 — 0.5M
VxM  200x58.5

08. mﬁcwﬁf@wwﬁ%ﬂﬁrwwuwﬁﬁmamwme)

ONa OH OH
AT 22 o e 10 -OOH + NaCl
120°C,4-7 atm HCI
i
OH 0-C-CH,

COOH ] COOH
+(CH,C0), 0= +CH,COOH

09. @36 PR Gt HCN @k NaCN T g w7t 0.01M 1 3 HCN @7 siaiesm 435 7.2x107°

W, O AFRFIAT H™ @3z OH™ 9RG=q 9991@l 67
ARG SINAT S, I JI0 -
[S] 0.01

H =pK, +log—_ 1, pH=pK, +log——=pK, 31, [H']=K, =7.2x10"'°M
pH =p g[A] pH =p gom p [H™ ]=
107 ‘
- [OH"]= —=1.389x10"° M
7.2x10

10. farn2er @ IEET e sfaesy Fene WWF@WW |

T4 e — Bt ¢
CH,0OH ——=—CH,Cl—<*- CH,CN—*_, CH,CH, — NH,

LiAlH,
CH,CH,NH, —23CH,CH,0OH +N, + H,0
e — et
CH,CH, —OH hL‘j‘D}CH COOH —*— CH,CONH, :““” >CH,NH,
nO, rn, A

CH,OH + N, + H,0 =%

T ) 21 {5

B




iz e QR QR
sife (MCQ)

Lim X
01. T ffa=as
X=2>0+4/14+x -1
(a) x=0 (b) x=2 | (c) x =% (d) None of them

sqi9E: (b); Using 1a' Hospital, } =2J1+x =2

271+ x
02.* (26.3125),, =(x), T, x 99 I F©? [Ans: a]
(a) 11010.0101 (b) 110100101 (c) 110010101 (d) None of them
03. M f(x)=2x-5 ¥R g(x)=x"+6 W, o g(f(x)) I 3- | [Ans: b]
(a) 4x* +6 (b) 4x* —20x+31  (c) 4x*+2x-19 (d) None of them
04. I @ @B I AR @’ =1 ¥, 7T (1+0-0°)’ -(1-0+0?)’ THI=- .
(a) 180—-10m° (b) 16w’ (c) 0 (d) None of them
AT (c) -2 )3 (-2m) = ( i —m") =0 [vo'=1]

05. aﬁw@ﬁmvﬂmwﬁwﬁam 4 sec “Itq DFAMDT 0T SN ASEHT *I% S{NGAT (5 |

g=9.80 m/sec’ € @ 330 m/sec A FAT TSOI-
(a) 80.30 m (b) 90.40 m (c) 70.30 m (d) None of them

FAAYE: (C); 2h+h=4 = 2h+ ; =4 - h=70.3m/s
g v g 330

06. I (a+2x) a7 f~efere x* a7y 320 W, ©F 'a' GF T F?
(a) +4 (b) 4 (c) —4 (d) None of them
sgE: (d); °C, a?(2x)’ =320 =a’ =4 a=%2

07. cos” (144) 0 T tan O 99 W T3-

169 ;
(a) 25/169 (b) 169/25 (c) 25/144 (d) None of them
TgE: (d); cos” B——lﬁ :>cns€l-12 .‘.tane=i 5 o
169 13 12

08. x 99 I W &= fAzferiRe e T %=1 T=? ’
x? X 2
2 1 1
0 0 -5
(a) 0, -2 (b) 0,2 (c) 0,1 (d) None of them

s (b); —5(x° —2x)=0 =>x*—2x=0 . x=0,2

iom SRR




dy

; .("), ﬁ KUET, CUET, RUET &% 8 NI4T

09. I y=¢"" “@Watﬁmwmﬂ

sin_I X

(a) (VI-x?)e™ *  (b) =

1—x°
dy d - ¢
W‘Eﬂq‘ b eﬁlﬂ..‘.‘t =EEI!1!I'.
O L =(e™)
10. jdx O 9 F9?
xInx

(a) In [i—] +c

Y (¢); Inx=z=

(X)

]

%(ﬂin" x) -

(b) In (Inx)

1 —x?

(€) —

E\SI.]'!. X
[

sin” X

(d) None of them

] —x?

(¢) In (Inx)+c (d) None of them

—dx =dz; IE =Inz=In(Inx)+c (Ans.)

)dx =In{f(x)}+c (Ans:)

11. c0538=(a+b) AN a =b T O 9T TN T3-

4ab
(a) 0° (b) 90°
2 2
TAIYrE: (a); cos’ 0= (a+a) = ﬂﬂ—z
4a.a 4a

12. (costan™ cotsin™ x) €% W7 Fe?
(a) m/2—x (b) x

1—x

srgE: (b); costan™ cotcot™
X

(c) 45° (d) None of them
=1 ..6=0°
(c) m/2+x (d) None of them
.
=cos.tan™ X =C0s.c0s (X) =X
X

13. y=a" 3@, x=0 (¢ y 99 n ©F 9GIF 72 F9?

(a) 0
Aq14: (d); y, =a” Ina

- T O . O O e

SX=0TF y_=(Ina)"

(b) (log a)”

(c) nloga (d) None of them
y, =a*(Ina)> *

y, =a (Ina)"

4. @ FeT 4 11 W32 5T S 39 SR | GG @F FArTOE 9 310 3= Sortew 13 6 I3 T ICEl

RaAF TWIret ffefg o9

(a) 5/42 (b) 9/42
. SC 5

TALE: (2); 5= = ——
(®) °C, 42

(c) 1/7 (d) None of them

15. @b fagrem IRetes 0ndy T 5 cm, 12 cm, 13 cm 207 faesit-

(a) Toerat fagw

SE: (€); 5% +122 =132

Qlégw &8

(b) TErr fags

(c) ST fags

(d) None of them

i 323 | 5



16. ¥ FREEl o g e A @3 x SewR A 30°° @I Teofy T, O A -

(a) x = yﬁ (b) y= x/3 (c) y=3x (d) None of them
1
FUgE: (a); m=tan30° =— .y= = \/5
(a); m=tan A Yy=IMX =S X=Y
17. x*+y" —6y+5=0 @ x =2 @RI ¢Ffo-
(a) Tt (b) T (c) =i (d) None of them

4 (¢); center =(0,3), R=+3"-5=2,..x=2 is a tangent ata point 2,3.

18. 9x* +25y° =225 T qela ey 3-
(a) (£4/5,0) (b) ( 0, =£4) () ( £4,0) (d) None of them

p. 2
AL (C); £—+y—=l, e=\/1—i=i R (€ :[iis,ﬂ) =‘(i4,0)
25 9 25 5 5

19. A ¢ B frrs e w3t Refieq sedT <o W i o aow fE o 79| T ol @1 C
ﬁ’{C@ﬁFmﬁ?{tﬂﬁﬂ AC =5 T¥, o9 AB 99 ¥ @3-
15
: |

A
b ¥ B
30 45

(a) 15 (b) 20 (c) 10 (d) None of them
AigE: (¢); 30x5=15xx =x=10
20. 4 kg =3 R[RfR o3l 37 ey 1o afestaf~e g gong 200 m e Sfire w=er 2e7E 4@ 2m
IR Ty BT AES 2 | @0 THAF M T 9IS 1 AFSfFat I FI?
(a) 3920 N (b) 3959.2 N (c) 3959.2 ] (d) None of them
seig: (b); Fx =mg(h+x)=>Fx2=4x%x9.8(200+2)=F=39592 N

sardfess (MCQ)

21. @ I BT F=(61—3]+2k) N <o et 3afa r=(2i+2j—k) m 7 20 | qugs = 3T
TE FICEA SR F97 '
(a) 45 joule (b) 4 watt (c) —?+10]+1812 (d) None of them
sigr: (d); W=Ff =12—-6-2 =41

22. A @32 B WB 932 0T A7 IS O (AF SR T 99T (AT FANAT A1 A 4% W26 h T

@E 92 B 299 35 2h Swe! (A @l 2 | Nitre dure I A o%d 4% t AT (T O B #%9
ST TS AN (L7 (ISR 14T XA A F40 @ATS A1)

(a) 4t. (b) 2t ©) 75 (d) V2t

g (d); A 2SR oL, h=%gt1=>tz -
' g

B t&9 (F, 2h=%gt'1 ::»ﬂ:t'2 =2t =17 = t'=/2t

g
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23. —ﬁwmﬁmmwm wﬁ?a@awwﬁ aft g jﬁﬁ’rc—ﬁmww
(a) 10000 mile/sec  (b) 34.67 mile/sec (c) 6.95 mile/sec (d) None of them
TAYE: (¢); ISR oa Mrs sare =9 |

R IEe 11.2kms™ = miled w1 T3 6.95 mile/ sec

24, TN IE A© ATE I AP T G0 P Sgia -~ 20 1 oiowa 5 35 I [Ans: d]
(a) ey <8 (b) Syl I8 (c) o <% (d) 7= T®

25. Wﬁmﬁwﬁmawmwwﬁfﬁ—w%wﬁm- ~ [Ans: a]
(a) TSI ST (ATF 90T ME (b) T (AT COR WA T
(c) &F© At Ty o (d) None of them

26. 1 IR SIATE HFaeet 0w FRRS 0o S ST I 4 A
(a) 1] (b) 2.4 ] (c) 4271 (d) 14.7 ]
ATYE: (C); SL2F TfFS et 4.2/ cal. -

27. T© SHANMER AT 99 TG0 @\ [Ans: a]
(a) 4°C (b) —4°C (c) 4°F (d)273°K

28.* WM WA S YT 2x 107 cm «3R &fS 97 GIFBRBIE W97 sy 3% 102 T0E GIT VT TS 2 TS Q2

(@) 5.30x10™em  (b) 2.65x%10°cm (c) 1.76x10>'cm (d) None of them
1 |

141 (b); =2.65x10"%cm
7L
29. L % ST (BT (WL RSAW 064 @G 3o cora?
(a) w=it (b) S3% vy (c) == (d) =i

Ar4E: (c); 1oc A2
30.% % 8 WY IS M @ WEH V, 8 V| q3 IH T WITW p, § p_ T, 0 045 57 2

(a) Va = |Pa (b) i= Pm (c) £=p—’" (d) None of them
Vi, m m oF Vimts i Pa
1
Iq1419: (b); vnc\/a
31. Sfe=i 2o Toopg =137 (@ *ificwa wan? [Ans: c]
(a) 2Ry ST (b) *z= w7z  (c) *ITed oI (d) Sfer peT oo
32. @36 Farem wIgfon o @1y 2Q) | B T @ T SSTHER NI o AT KA | @ 97 G TR
(a) —1Q2 (b) 8Q2 (c) 4Q (d) 0.5Q
AL (C); WCATFS @Y p SSHCHFE@ AN AT |
R/A, _R,A, - 2nr? _ R,mr*.2 R, _4£')
L, L, L, 4L,
33. amm@aﬁmwwmw @ ERGE o= T AN, ©f AT oiF e *fF ws FFwersn
&< 9iee- [Ans: a]
(a) FFEaTB-w51 v T (b) STGC-T01 Gz R
() I «% farT (d) None of them
34, aﬁmwﬁmaﬂw~wa#qumwmwﬁaﬁ%wﬁmﬁrw- [Ans: b]
(a) IS (b) €I
(c) FF \3e YANGT T3 (d) None of them

EEER | ;| ST
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35. 3t I ENLT UF W O mmwﬁ'r 5, 1T 8 crrmﬁ‘rawﬁmmm| G CATYT A T T2
(a) 3570 Q2 (b) 1470 Q (c) 1510 Q2 (d) None of them

sareE: (b); 14x107 £5%. .- 91&® Tw=1470Q
36. IS EITEAN SETa ©a% i 5.89% 10 m | 1.52 efssmies (%8 S5 97 o () 9972
(a) 8.92x10'm (b) 3.87x10'm - (c) 5.89x107'm (d) None of them

=7
g (b); W A, =1, Ay, DA, = 1:{5.18?5;:10 =3.87x10"m
37. 120cmwﬂmwwmmaﬁrwmmmmwww-
(a) 40 cm (b) 60 cm (c) 80 cm (d) 120 cm

Fr: (b); SEHR A FUATE &S orefd AT O A |
38, @I I6AI AR &% 3 ms 9 24 A ﬂWWﬁWWﬁIW%WWWWﬁ
260 V W, OE T (OIS (i U 6 *& AT f2e?

(a) 48 W (b) 9.36J (c) 2.08] (d) None of them
waigE: (b); €= —Lg = 260=L i - =L =0.0325
dt 3x10
SOW = %LI2 = %x 0.0325x%(24)* =9.36J
39, ¥ *M&fere UIH FFE (GIF OQ O & AT T ©ILF - [Ans: c]
(a) TOTES SR (b) TS ATI=TS! (c) ToT=< =Ml ~ (d) None of them
40.* e @I oAb ©foe WA PRI o widl Af5e q7? [Ans: c]
(2) STEATE IF L) ISEIERER (c) *I% o= (d) 9T o9
s (MCQ)
41.* Pifaefes GRET Ty TR SR g GNE FH0? [Ans: b]
(a) Chlorine (b) Fluorine (c) Oxygen (d) lodine :
42. frse et GETEa FETHE RENT JI7° 277 [Ans: c]

O

(a) CN b) R—C-NH,  (c) H,N-C-NH,  (d) None of them
0

43. 36g ~wre A0 “Alfvg =Y SM=R?
(a) 44.8 (b) 2.0x10% (c) 1.2x10% (d) None of them
s (d); 36g =2 mole .. YT AR =2 x6.023x10%

44, REE IRET JALFS FEHE0?
(a) 2Fe,O, 3H,0 (b) Fe,O, (c) Fe,O, 2H,0 (d) None of them
starg: (d); The chemical formula for rust i1s Fe;03.3H-0.

45. 1.5g IETE IO WA FAC &M STAN@AT 8 51eA F© oo CO, T=Ag 22
(a) 2.8 L (b) 336 L (c) 0.81 (d) None of them
FaigE: (a); C+ 0, =CO0,

22.4x1.5

12g 224L .. ~2.8L
12

I SR | s {f
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(d) None of them

| P~.O [ I
srgE: (c); 2R —C—OH 25-5 >R-C-0-C-R+H,0
afre SrTRRERT
47. s (Si) 97 IEGHT [ e ? [Ans: b]
(2)18°28°2P°38%3P°  (b)1S?2S%2P®38%3P?  (c)1S?2S?2P°3S23P* (d) None of them
48. HITI SR F17 G33f6 S s e vifFafEs zm [Ans: c]
(a) T (b) curenifafc (c) TurEfafe (d) None of them
49. AT CRRITATAG ACTHRR SIFT 72 FO7 -
(a) +2.5 (b) —-2.5 (c) +4.0 - (d) None of them

Trer: (a); NapSqOg, 2x1+4xx+6(-2)=0=>x=42.5
50. 23°C @y 932 7.08 atm ¢ 12 L WIS G0 A Fiferes 3yew S At Wiz | SR

TS (T ARGTE HTR? ,
(a) 3.5 mol (b) 0.29 mol (c) 24.27 mol (d) None of them
TIgE: (a); PV=nRT ..n - 105413 =3.5mol

"RT  0.0821x(273+23) |
51. 250 cm’ 0.IM NaOH 53¢ tof Fare & «fZstt NaOH ATEH RI?

alg (b) 10 g (c)0.1g (d) None of them
41: (a); 25%x0.1x40=1g
52. s et wristes S o [Ans: d]
0 0 O
[l [l 1
(a) -C—-H (b) —C-CH, (c) -C-OH (d) None of them
53. IS FER PACHY I fAeTre Soimitaa Sefdfe- [Ans: b]
(a) 213 AL (b) wnifFEnfos @B (c) 2mE (d) None of them
54. 0.0001 M HCI gzwsiw PH @7 5 397 |
(a) 4.0 (b) 3.5 (c) 3.0 " (d) None of them

TarqE: (a); pH =—10g(0.0001+107)=3.999 ~ 4

35. WMEHIR pH 2 (T 3 @ I a2 1 5aet HY a7 qowiag-
(a) T HITR (5T Wieet I cofem (b) T BT C5TH TR ZIT (oFe
(c) T3 FICI (o foma i com (d) None of them
st (b); pH =—log [H*]; [H']=107"
[H*], - 107" 107

= _=—__10" -[H'],=10"[H"
[H+ ]I 1 D,_,p 1 U-—I [ ]2 [ ]]

56. MG IFFHITAT? [Ans: c]
(a) CH,COOH + CH,COONa (b) H,CO, + NaHCO,
(c) HCIO, + CH,COOH (d) None of them

| ECER 1 =7 {5
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57. T3 @R Q@ Fpifwencar [ @x? [Ans: c]
(a) CH,CH,CHO (b) (CH,),-CHO (c¢) C.H,CHO (d) None of them
58. RN B3 Rferas ade SeAm (i ? [Ans: a]
OH CH,OH COOH
(a) @[ (b) @ | (c) @[ (d) None of them
CHO OH OH
59. @36 v @ i ga 3e 2x107°S™ [Rfewbe wdgem so7
(a) 2.88x107°S (b) 346.5 S (c) 1.38x107°S (d) None of them
st (b); T, = 0.693
;K _
60.* AR g Torere RO “Anem Iw I Q@rifo? | [Ans: c]
(a) O1l (b) Fat (c) Glyecrol (d) None of them
EtE (MCQ)
61. Choose the correct word to fill in the blank: ' [Ans: ]
The blue whale is known animal, reaching a length of more than one hundred feet.
(a) the large (b) the larger (c) the largest (d) most largest
62. Which one of the following 1s a complex sentence? [Ans: c]
(a) He is too weak to walk (b) He is very weak, so he cannot walk
(c) As he 1s very weak he cannot walk (d) None of them
63. Fill in the blank will appropriate preposition: I have no envy him. [Ans: b]
(a) at (b) of (c) to (d) None of them
64. Choose an appropriate preposition to fill in the blank: [Ans: b]
The guard left the office key security-in-charge.
(a) with (b) to (c) by (d) over

65. Choose appropriate single word for a group of words given below: The scientist who study the
atmosphere to see how it affects the environment and to predict the weather and climate. [Ans: b]

(a) Metrologist (b) Meteorolosit ~ (c) Environmentalist (d) Philanthropist
66. Find out the wrong sentence. ' [Ans: a]
(a) I know who is she (b) English 1s a global language
(c) Tell me what her name was (d) She washes her hands
67. Choose the correct word: An earthquake heavy losses. [Ans: d]
(a) induces (b) introduces (c) affects (d) causes
68. Fill in the blank with appropriate preposition: You are not competent the post.
(a) for (b) to (c) by (d) at [Ans: a]
69. Which one of the following is the correct passive voice? Panic seized the writer. [Ans: c]
(a) The writer has been seized by panic (b) The writer had been seized by panic
(¢) The writer was seized with panic (d) The writer has seized by panic
70. In which of the following sentences, the word "last" has been used as "Noun". [Ans: d]
(a) I shall go by the last train (b) He came last
(c) It will last long (d) He will fight to the last
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